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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.

(2) Attempt all the questions.

Which types of risks are taken by businessman with reference to objective and subjective 14
probability concept explain.
OR
Write in detail on risks and uncertainty. 14
State the factors affecting location and explain the location theory of industry given by sarqent 14
florence.
OR
What is cost benefit analysis? Write a detailed note on cost benefit analysis with diagram. 14
(a) What is excise tax? ( b ) Explain tax on profit. 14
OR
Explain the concept of break-even anaysis with the help of diagram. Explain how production 14

planning can be done with break-even analysis.

(a) Explain the concept of linear programming and also explain the concepts of constrainds 7
and objective function.
( b) In the context of game theory explain concept of cooperative and non cooperative game. 7
OR
(a) Discuss the usefulness of linear programming, 7
(b) Explain game theory in detail. 7
Select the correct answer for following questions (MCQ) : 14
(1) A situation where no information is available about the outcome of the business decision is
known as
(a) Certainty ( b)) Risk ( ¢ ) Uncertainty ( d ) above all.
(2) If two investment project have different expected profit, what can be used to decide the
selection of the project?
(a) Coefficient of correlation ( b ) Coefficient of variation ( ¢ ) Mean ( d ) Probability.
(3) Inorder to get the least transport cost location, which economist has given location triangle?
(a) Keynes ( b ) Mead ( ¢ ) Weber ( d ) Sargent florance
(4) Which economist has given inductive analysis for the problem of choice of location?
(a) Marx ( b) Adam Smith ( c ) Sergent florance ( d ) Rostom
(5) Break-even point shifts to right due to ............... cost for the firm
(a) Increase in ( b ) Constant ( ¢ ) Zero ( d ) Decrease in.
(6) Which type of tax helps local government to get relatively move income?
(a) Income tax ( b)) Expenditure tax ( ¢ ) Wealth tax
(7) Which tax encourges efficient allocation of resources?

( a ) Excise tax ( b ) Exponditure tax ( ¢ ) Wealth tax
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